

Tabulation Of Bids

Event #: 340

Name: Wave Runner, Boat(s) and Outboard Motor Maint. and Repair

Description: The City of Fort Lauderdale, Florida (City) is seeking qualified, experienced and licensed firm(s) in the tri-

county area to provide Wave Runner, Boat(s) and Outboard Motor Maintenance and Repair for the City's various Departments, in accordance with the Terms and Conditions, and Specifications contained in this

385,664.61

Invitation to Bid (ITB)

Open Date: 08/27/2024 02:00:00 PM Close Date: 09/17/2024 02:00:00 PM

Event Currency: USD

Supplier **Bid Amount**

Yacht Management South Florida

3001 SR 84

Fort Lauderdale, FL 33312

Items

Item: AC ROUTINE MAINT CRUISE AIR

Description: Metal Craft - Fire Boat 49 AC ROUTINE MAINT Unit of HR

Measure:

Quantity: 80.0000

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	80.0000	145.00000000	11,600.00

Item: AC REPAIRS BREAKDOWNS/FAILURES

Description: Metal Craft - Fire Boat 49

Unit of HR **Quantity: 60.0000**

Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	60.0000	145.00000000	8,700.00

Item: ELECTRICAL REPAIRS, CHARGERS, ETC

Description: Metal Craft - Fire Boat 49

Unit of HR Quantity: 40.0000

Measure:

QuantityUnit PriceExtended AmountYacht Management South Florida40.0000145.000000005,800.00

Item: ELECTRONICS REPAIR, GPS, ETC

Description: Metal Craft - Fire Boat 49

Unit of HR Quantity: 40.0000

Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	40.0000	145.00000000	5,800.00

Item: GPM ROUTINE SERVICE

Description: Metal Craft - Fire Boat 49 - Fire Pump Darly 3000

Unit of HR Quantity: 20.0000

Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	20.0000	145.00000000	2,900.00

Item: GPM REPAIRS - BREAKDOWNS

Description: Metal Craft - Fire Boat 49 - Fire Pump Darly 3000

Unit of HR Quantity: 40.0000

Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	40.0000	145.00000000	5,800.00

Item: ROUTINE MAINTENANCE PER MANUFACT

Description: Metal Craft - Fire Boat 49 - Engine Mains Cummins QSB

Unit of HR Quantity: 160.0000

Measure:

Unit Price Extended Amount Quantity Yacht Management South Florida 160.0000 145.00000000 23,200.00

Item: BREAKDOWNS/FAILURES

Description: Metal Craft - Fire Boat 49 - Engine Mains Cummins QSB

Quantity: 80.0000 Unit of HR

Measure:

Quantity **Unit Price Extended Amount** 80.0000 145.00000000 11,600.00 Yacht Management South Florida

Item: ROUTINE MAINTENANCE PER MANUFACT

Description: Metal Craft - Fire Boat 49 - Transmission ZF

Unit of HR **Quantity: 40.0000** Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	40.0000	145.00000000	5,800.00

Item: BREAKDOWNS/FAILURES

Description: Metal Craft - Fire Boat 49 - Transmission ZF

Unit of HR **Quantity: 20.0000**

Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	20.0000	145.00000000	2,900.00

Item: ROUTINE MAINTENANCE

Description: Metal Craft - Fire Boat 49 - Generator Phasor

Unit of HR Measure:

Quantity: 80.0000

Vacht Management South FloridaQuantityUnit PriceExtended Amount11,600.00

Item: BREAKDOWNS/FAILURES

Description: Metal Craft - Fire Boat 49 - Generator Phasor

Unit of HR Quantity: 40.0000

Measure:

QuantityUnit PriceExtended AmountYacht Management South Florida40.0000145.000000005,800.00

Item: ROUTINE MAINTENANCE

Description: Metal Craft - Fire Boat 49 - Hydraulic System

Unit of HR Quantity: 80.0000

Measure:

QuantityUnit PriceExtended AmountYacht Management South Florida80.0000145.0000000011,600.00

Item: BREAKDOWNS/FAILURES

Description: Metal Craft - Fire Boat 49 - Hydraulic System

Unit of HR Quantity: 20.0000

Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	20.0000	145.00000000	2,900.00

Item: ROUTINE MAINTENANCE

Description: Metal Craft - Fire Boat 49 - Jet Drives ZF

Unit of HR Measure:

Quantity: 80.0000

QuantityUnit PriceExtended AmountYacht Management South Florida80.0000145.0000000011,600.00

Item: BREAKDOWNS/FAILURES

Description: Metal Craft - Fire Boat 49 - Jet Drives ZF

Unit of HR Quantity: 20.0000

Measure:

QuantityUnit PriceExtended AmountYacht Management South Florida20.0000145.000000002,900.00

Item: GENERAL REPAIRS TO SYSTEMS

Description: Metal Craft - Fire Boat 49 - Service Calls

Unit of HR Quantity: 150.0000

Measure:

QuantityUnit PriceExtended AmountYacht Management South Florida150.0000145.0000000021,750.00

Item: HAUL OUT RATE

Description: Metal Craft - Fire Boat 49

Unit of EA Quantity: 7.0000

Measure:

QuantityUnit PriceExtended AmountYacht Management South Florida7.0000714.000000004,998.00

Item: OUT OF WATERSTORAGE RATE PER DAY

Description: Metal Craft - Fire Boat 49

Unit of DA Quantity: 60.0000

Measure:

QuantityUnit PriceExtended AmountYacht Management South Florida60.000084.000000005,040.00

Item: OUT OF WATER

Description: Metal Craft - Fire Boat 49 - Bottom Pressure Washing

Unit of EA Quantity: 1.0000

Measure:

QuantityUnit PriceExtended AmountYacht Management South Florida1.0000126.00000000126.00

Item: BOTTOM PAINTING FEE

Description: Metal Craft - Fire Boat 49 - Annual

Unit of EA Quantity: 1.0000

Measure:

QuantityUnit PriceExtended AmountYacht Management South Florida1.00006,257.610000006,257.61

Item: HURRICANE RESERVATION FEE

Description: Metal Craft - Fire Boat 49 - Annual

Unit of LS Quantity: 1.0000

Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	1.0000	12,500.00000000	12,500.00

Item: HURRICANE HAUL OUT RATE

Description: Metal Craft - Fire Boat 49 - Annual

Unit of EA Quantity: 1.0000

Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	1.0000	672.00000000	672.00

Item: HURRICANE STORAGE RATE

Description: Metal Craft - Fire Boat 49 - Out of Water

Unit of DA Quantity: 20.0000

Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	20.0000	210.00000000	4,200.00

Item: PAINT ROUTINE TOUCH UP/MAINT

Description: Metal Craft - Fire Boat 49 - Annual

Unit of EA Quantity: 1.0000

Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	1.0000	5,000.0000000	5,000.00

Item: CAPTAIN FEE HOURLY (BOAT MOVES)

Description: Metal Craft - Fire Boat 49

Unit of HR Quantity: 80.0000

Measure:

QuantityUnit PriceExtended AmountYacht Management South Florida80.000050.000000004,000.00

Item: PASS THRU - FIRE BOAT 49

Description: Pass Thru - Fire Boat 49 **Description 2:** Pass Thru - Fire Boat 49

Unit of LS Quantity: 1.0000

Measure:

QuantityUnit PriceExtended AmountYacht Management South Florida1.000035,000.000000035,000.00

Item: DIVERS - ALGAE REMOVAL IN WATER

Description: McKee Craft - Fire Boat 249 - Monthly Bottom Cleaning

Unit of EA Quantity: 12.0000

Measure:

QuantityUnit PriceExtended AmountYacht Management South Florida12.0000112.000000001,344.00

Item: ELECTRICAL REPAIRS

Description: McKee Craft - Fire Boat 249

Unit of HR Quantity: 80.0000

Measure:

QuantityUnit PriceExtended AmountYacht Management South Florida80.0000145.0000000011,600.00

Item: ELECTRONIC REPAIRS - GPS,ETC

Description: McKee Craft - Fire Boat 249

Unit of HR Quantity: 80.0000

Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	80.0000	145.00000000	11,600.00

Item: FIRE PUMP ROUTINE SERVICE

Description: McKee Craft - Fire Boat 249

Unit of HR Quantity: 20.0000

Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	20.0000	145.00000000	2,900.00

Item: FIRE PUMP REPAIRS-BREAKDOWNS

Description: McKee Craft - Fire Boat 249

Unit of HR Quantity: 20.0000

Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	20.0000	145.00000000	2,900.00

Item: ROUTINE MAINT PER MANUFACTURE

Description: McKee Craft - Fire Boat 249 - Engine Mains Yamaha

Unit of HR Quantity: 80.0000

Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	80.0000	145.00000000	11,600.00

Item: BREAKDOWNS/FAILURES

Description: McKee Craft - Fire Boat 249 - Engine Mains Yamaha

Unit of HR Quantity: 40.0000

Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	40.0000	145.00000000	5,800.00

Item: ROUTINE MAINTENANCE

Description: McKee Craft - Fire Boat 249 - Hydraulic Steering

Unit of HR Quantity: 10.0000

Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	10.0000	145.00000000	1,450.00

Item: BREAKDOWNS/FAILURES

Description: McKee Craft - Fire Boat 249 - Hydraulic Steering

Unit of HR Quantity: 10.0000

Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	10.0000	145.00000000	1,450.00

Item: SERVICE CALLS

Description: McKee Craft - Fire Boat 249 - General repairs to systems

Unit of HR Quantity: 80.0000

Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	80.0000	145.00000000	11,600.00

Item: HAUL OUT RATE

Description: McKee Craft - Fire Boat 249

Unit of EA Quantity: 7.0000

Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	7.0000	500.00000000	3,500.00

Item: OUT OF WATER STORAGE RATE

Description: McKee Craft - Fire Boat 249

Unit of EA Quantity: 60.0000

Measure:

QuantityUnit PriceExtended AmountYacht Management South Florida60.000056.000000003,360.00

Item: BOTTOM PRESSURE WASHING

Description: McKee Craft - Fire Boat 249 - Out of Water

Unit of EA Quantity: 1.0000

Measure:

QuantityUnit PriceExtended AmountYacht Management South Florida1.000084.000000084.00

Item: BOTTOM PAINTING FEE

Description: McKee Craft - Fire Boat 249 - Annual **Description 2:** McKee Craft - Fire Boat 249 - Annual

Unit of EA Quantity: 1.0000

Measure:

QuantityUnit PriceExtended AmountYacht Management South Florida1.00003,785.000000003,785.00

Item: HURRICANE RESERVATION FEE

Description: McKee Craft - Fire Boat 249 - Annual

Unit of EA Quantity: 1.0000

Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	1.0000	12,500.00000000	12,500.00

Item: HURRICANE HAUL OUT RATE

Description: McKee Craft - Fire Boat 249 - Annual

Unit of EA Quantity: 1.0000

Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	1.0000	448.00000000	448.00

Item: OUT OF WTR STORAGE RATE PER DAY

Description: McKee Craft - Fire Boat 249 - Hurricane

Unit of EA Quantity: 20.0000

Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	20.0000	140.00000000	2,800.00

Item: FIBERGLASS/PAINT REPAIRS

Description: Wave Runners - 3

Unit of HR Quantity: 20.0000

Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	20.0000	145.00000000	2,900.00

Item: ROUTINE MAINT PER MANUFACTURE

Description: Wave Runners - 3 - Engine Mains Yamaha

Unit of HR Quantity: 120.0000

Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	120.0000	145.00000000	17,400.00

Item: BREAKDOWNS/FAILURES

Description: Wave Runners - 3 - Engine Mains Yamaha **Unit of** HR **Quantity:** 80.0000

Measure:

Quantity Unit Price Extended Amount

 Yacht Management South Florida
 80.0000
 145.00000000
 11,600.00

Item: PASS THRU - FIRE BOAT 249

Description: Pass Thru - Fire Boat 249

Unit of EA Quantity: 1.0000

Measure:

	Quantity	Unit Price	Extended Amount
Yacht Management South Florida	1.0000	35,000.00000000	35,000.00